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Circle the related mutplication fact. | s
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70+7=_£?-—

e
A 7x1=7

7x70 = 490




81-9=172

72+9 =81




63 - Mathematics - Bridge Bridge - Sledliyl | 2023-2022

| Part 2 2 gl

Question . 11 w Jlged
Skip count backwards to find the asadl) 3l gy WA gl X
quotient.
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| 1
9 12 15 18 2

A et A R A

A 6

(8)| (7)

c 8

Question 12 Jhjaslt

There are no cats to sleep in the cat dalal) yujee B oG kel gl LA
How many cats will sleep in each
cat bed?
A 5—-0=0
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~a multiplication sentence for the o A 12 (e dpha 4
~number of counters in 4 rows of 12

124+ 4 =16
4x12 =48

12+4+4+4=24
12x12=144 = -

gap 16 . . N
o e Distributve Property 10 And | | iyt g2 Sy sish et pid
the product. '
125 = ——

(10+7)+(2+7) =26

(10x7)+(2x7) =84

(10 x7) x (2% 7) = 980
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Circle the unit fraction for the Jmﬁ‘“m#wﬁb
shaded section of the model.
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I Show all your work when answering these questions. MW‘I‘IMMM‘&“W |

Question
Use repeated subtraction to divide.

- 3."-,5-. 3 2

umanmmpulmum i.,:g:ﬁmamaujl

slat on a fence. gl o il
There are 7 slats on the fence. Ehedl e Glagl 7 sagy

How long will it take Moza o paint all | clagll S 45 il G e e s
lﬂlmhfﬂm‘? ._.':':_._,_-"; :'l-._'
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"'Mmtfmcﬂon of the set of bees s
flying away?

Tl A4S gana

w
Nl 9w W
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nfthnShou-uonl!nblodt.:-]m %dilhiiihhglgldjth-s
brick and 1 is wood. AR e I3 1 g sl
What fraction of houses is neither wwyﬂdﬂ&q@ﬂh
wood nor brick?
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Question 1
Circle the two multiplication Abghad) a0 ) gl (e daa
sentences that is represented by
the array.

m=13
m =18
= 36
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Question 17

B |

Find the missing factor.

(mx2)x4=40

Question

Write an equation with a letter for
the unknown.

There were 64 oranges in 8 equal
layers in a box.

Mother took some oranges from the
top layer for snacks.

How many oranges did mother take
if there are 5 oranges left on the

top layer?

gl Clids 8 3 UKy 64 2y
dylie

Al ARl e N g ) 2
RSN ) Janl

gy OIS 13) 451 gl 0 i s a8
Fagill Adall A ddda cHlEy 5

64+8-b=5

64+-8-b=5

64+-8Bx5=b
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